Matematika
Pocitani
Scitani
Od¢itani
Nasobeni
Déleni



1+1=

8+6=

13+ 28 =

169 + 14 =

13+ 1789 =

5+4-=

1450 045 + 1 000 045 =
452 + 10 =

_\



9-7=
48 —12 =

152 - 17 =

975 — 25 =

187 257 — 200 =

1 000 500 — 500 250 =
23-5=

1582 —141 =

_\

Q-

_\



Nasobeni

1x1-=
O x 456 =
2X3=
7 X8 =
Ox9-=
3x4-=
4x12=
bx /=



55:5=

2 000 :500 =
60:12 =

49 :7 =

12 :4 =
7777777 :7=
16:8 =
36:6=

Délen



Dalsi priklady

* Pro piisté ptidat... 111!



Slovni Uloha



v

* Vysledek, mensi, vétsi



